Stoichiometry Worksheet
1. Potassium chlorate decomposes into potassium chloride and oxygen: 2KClO3 ( 2KCl + 3O2
How many grams of O2 can be produced by letting 12.00 grams of KClO3 react?
2. Potassium and chlorine react to form potassium chloride: 2K + Cl2 ( 2KCl.                                     How many grams of KCl are produced from 2.50 g of potassium?
3. Sodium oxide and water react to form sodium hydroxide:                                                          BALANCE THIS ONE FIRST!! __Na2O + __H2O ( __NaOH.                                                              How many grams of NaOH are produced from 120 grams of Na2O? 

4. Given the following equation: 8 Fe + S8 ( 8 FeS.  How many grams of FeS are produced from16.0 grams of sulfur?

5. Sodium chlorate decomposes into sodium chloride and oxygen.                                                      BALANCE THIS ONE FIRST!! ___NaClO3 ( NaCl  + ___O2.                                                     How many grams of sodium chloride are produced when 80.0 grams of oxygen are produced?

6. Copper and silver nitrate react to form copper (II) nitrate and silver. If 89.5 grams of silver were produced, how many grams of copper reacted?

7. Ammonia reacts with oxygen to form nitrogen monoxide and water.  When 9.97 grams of ammonia reacts, how many grams of water formed?
